



Welcome to Daily **Profit** Introducing a new technology of making money. It is latest, fully automated and highly secure with latest technology. Our highly educated and skilled Developers are managing and upgrading this Program. Company running its all servers and services from United State having multiple nodes in world to Provide powerful customer support and services.

OUR MISSION

At DAILYPROFIT we are dedicated to creating a work-from-home experience that is rewarding, enriching, and sustainable. We believe that remote work is not just a way to earn a living but a pathway to a better quality of life. Join us on this journey to redefine work and embrace the freedom to live and work on your terms.

OUR VISION

Our vision is to empower individuals to achieve their full potential while maintaining a healthy work-life balance. We believe that where you work should not limit what you can achieve. By embracing the power of technology, we have built a platform that connects talented professionals with flexible, remote work opportunities across various industries.

ADVANTAGES OF DAILY PROFIT



- Better Work-Life Balance
- Less Commute Stress
- Location Independence
- Improved Inclusivity
- Money Savings
- Positive Environmental Impact
- · Impact on Sustainability
- A Customizable Office
- Increased Productivity and Performance
- A Happier, Healthier Work Life

LEGAL DOCUMENTS



* so insent the the factors: The Department







COMPANY DETAILS

DAILY PROFIT
7th Floor, Tower C Logix
Cyber Park, C-26, Sector 65,
Noida, UP - 201309

CONTACT US: +91 9695656251

www.dailyprofit.co.in



100 % Registration



Only You Have A Desktop Or Laptop Or Android phone.







TYPES OF INCOME

- · REFER INCOME
- · LEVEL INCOME
- · DAILY ROI INCOME
- · DAILY LEVEL INCOME
- · REWARD INCOME





For Every Direct You Will Get

20%

You Can Refer Unlimited Direct Members.

LEVEL INCOME

LEVEL	INCOME		
1	20%		
2	5%		
3	3%		
4	2%		
5 - 20	1%		
21 - 50	0.5%		

A Participant can earn money not only from their Daily Task but also by recruiting and building a team.

They can receive Daily Level Income based on the recruitment efforts of their team members.



DAILY ROI INCOME

PACKAGES	DAILY INCOME	DAYS	TOTAL INCOME
₹500/-	₹150/-	7 DAYS	₹1050/-
₹1000/-	₹300/-	7 DAYS	₹2100/-
₹2000/-	₹600/-	7 DAYS	₹4200/-
₹3000/-	₹900/-	7 DAYS	₹6300/-
₹5000/-	₹1500/-	7 DAYS	₹10,500/-
₹10,000/-	₹3000/-	7 DAYS	₹21,000/-
₹20,000/-	₹6000/-	7 DAYS	₹42,000/-
₹1,00,000/-	₹30,000/-	7 DAYS	₹2,10,000/-



DAILY LEVEL INCOME



LEVEL	DAILY INCOME	DAYS	Members
1	3%	7	1
2	3%	7	+1
3	2%	7	+1
4	2%	7	+1
5	1%	7	+1
6	1%	7	+1

Note: To Get Daily Level Income Your ID Should Be Topup with 2000 or above package and ID's that topup with 2000 or above package in your downline count for you to get these income

REWARD INCOME

<u>BUSINESS</u>	DAILY INCOME	DAYS	TOTAL INCOME
₹50,000/-	₹1000	7 DAYS	₹7000/-
₹1,00,000/-	₹2000	7 DAYS	₹14000/-
₹2,00,000/-	₹5000	7 DAYS	₹35000/-



TERMS & CONDITIONS

- REGISTRATION FREE
- DAILY PAYOUT
- MINIMUM WITHDRAWAL 300 RS
- WITHDRAWAL TIME 11.00 AM TO 1.00PM.
- 5% ADMIN CHARGE & 5% TDS CHARGE
- · IMPS WITHDRAWAL AVAILABLE.
- 24/7 SUPPORT SYSTEM.
- GET 10% ON RS.10,000/- DIRECT ID AND GET 20% ON RS.20,000/- DIRECT ID.







Holder Name: DAILY PROFIT Bank Name: INDIAN BANK A/C Number: 7330632820 IFSC Code: IDIB000N613



- www.dailyprofit.co.in
- +91 9695656251

CLICK TO





NEW ERA OF NEW TECHNOLOGY

Thank's For Watching

Connect with us.



WWW.DAILYPROFIT.CO.IN



+91 9695656251

